INTERNATIONAL INDIAN SCHOOL, RIYADH

WORKSHEET – SA 2  (2013-2014)

STD.  VI

MATHEMATICS

CH. 6  :  INTEGERS
I
Fill in the blanks:

1.
-5 + (-11)  = ______________

2.
8  +  (-6) = ____________

3.
(-26)  +  (-37) = ___________

4.
Write the greatest negative integer _____________

5.
Write all integers between  - 30  and -20  ___________

6.
Find the sum of  - 45 and 30

7.
Which is greater :  -65 or -56 ?

8.
Which integer is neither positive nor negative ?

II.
Draw a number line and answer the following :

1.
Which number will we reach if we move 4 numbers to the

 right of -2 ?

2.
If we are at -6 on the number line, in which direction should we move to reach -1 ?

3.
Using the number line write the integer


a)  4 less than -1


2)  6 more than -6

4.
Use number line and add the following integers :

a)   
(-1)  +  (-8)

b)    (-1)  +  (-2)  +  (-4)

c)   -8  -  (-10)

5.
Fill in the blanks with  >,  <  or  =

a)
54  -  (-11)  _________  57  +  (-4)

b)
(-35)  -  (-52)   _________  (-52)  -  (-35)

6.
Find :

i)
60  -  (-20)  -  (+10)

ii)    (-15)  +  12  -  9  +1

CH. 7 :  FRACTIONS

1.
What fraction of an hour is 30 minutes ?

2.
Write the natural numbers from 5 to 15.  What fraction of them are prime numbers?

3.
Express as mixed fractions.   a)  [image: image2.png]




b)  [image: image4.png]51




4.
Express as improper fractions.  a)  7 [image: image6.png]




b)  11 [image: image8.png]



5.
Find as equivalent fraction of  [image: image10.png]


  with denominator 18.

6.
Simplify 

i)
[image: image12.png]33



   
        ii)   [image: image14.png]83



          iii)    [image: image16.png]120




      iv)  [image: image18.png]75




     v)  [image: image20.png]112
128




vi)  [image: image22.png]57




7.
Add 

a)     [image: image24.png]


   and  [image: image26.png]




b)   [image: image28.png]


 ,    [image: image30.png]


  ,  and  [image: image32.png]


              c)   2[image: image34.png]


    and   8[image: image36.png]



8.
The weight of two boxes together is 5[image: image38.png]


  kg.  If one box weighs   2[image: image40.png]


 kg,
            Find the weight of the other.

CH. 10 :  MENSURATION
1.
The length and breadth of a Rectangle are 11 cm and 9 cm.  

Find its area and Perimeter ?
2.
The area of a Rectangle is 144 sq cm and its length is 16 cm.  Find    the breadth of the Rectangle?

3.
Find the perimeter of a regular hexagon of side x cm.

4.
If the perimeter of a regular pentagon is 65 cm.  Find its side ?

5.
The perimeter of a triangle is 42 cm.  If two of its sides are 16 cm and 12 cm.  Find its third side?

6.
A piece of string is 45 cm long.  It is bent to form an equilateral triangle.  Find the side of triangle.

7.
An athlete takes 5 rounds of a rectangular park 120 m long and 80m wide.  Find the total distance covered by him.

8.
Find the area of a square whose perimeter is 260 cm.

9.
The total cost of fencing a square park at Rs. 20 per metre is Rs. 2880.  Find the side of the square park.

10.
The floor of a room with dimensions 5 m and 3m is to be covered with square tiles.  If each square tile is of side 25 cm.  Find the number of tiles required.
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